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public TreeNode cloneTree(TreeNode root) {
if (root == null) return null;
TreeNode newNode = new TreeNode(root.val);
newNode.left = cloneTree(root.left);
newNode.right = cloneTree(root.right);
return newNode;
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(24,53,17,46,14,32,37,92}
h;(k)=k mod 13 > hy(k)=1+(k mod 11) -
h(k,i)=(h; (K)+i*hy(k)) mod 13 (i=0,1,...,12)
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h1(24)= 24 mod 13=11
h1(53)= 53 mod 13=1
h1(17)= 17 mod 13=4
h1(46)= 46 mod 13=7
h1(14)= 14 mod 13=1 > } Fid » £ * h(14,1)=(h1(14)+1*h2(14)) mod 13=1+1%4=5
h1(32)= 32 mod 13=6
h1(37)=37 mod 13=11 > % £ » £ * h(37,1)=(h1(37)+1*h2(37)) mod 13=(11+1*5) mod 13=3
h1(92)= 92 mod 13=1 > $ £idg » £ * h(92,1)=(h1(92)+1*h2(92)) mod 13=(1+1*5) mod 13=6 i»
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void KMP (string& target, string& pattern) {
if (pattern.size() > target.size()) return;
for (int =0, j=-1; i<target.size(); ++1)
{
while (j >= 0 && pattern[j+1] != target[i])
j = failure[j];
if (pattern[j+1] == target[i]) j++;
if (j == pattern.size()-1)
{
cout << "PATTERN
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